Questions 73 through 75: Energy is added to a system at a constant rate

as shown in the warming curve below.

>

Temp

L M

—

L1 T —

73. Which of the following best represents the energy calculation
involving segment MN of the graph?

(A) mass
(B) mass
(C) mass
(D) mass
(E) mass
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74. Which of the following best represents the energy calculation
involving segment NO of the graph?

(A) mass
(B) mass
(C) mass
(D) mass
(E) mass

75. Which segments on the curve would be eliminated if the substance
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sublimes at standard conditions?
(A) LM only

(B) MN only

(C) LM and MN only
(D) LM, MN and NO
(E) NOandOPonly

STOP: IF YOU FINISH BEFORE TIME IS CALLED, CHECK YOUR WORK ON THIS
SECTION ONLY. DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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